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1. WRA & HeFaTe & aR | fefafaa
ﬁ%ﬁmma@wﬁ% ?

(a) FRHEETG H WEG % weAl #
e & AR BRm

(b) HEFIEATYl W AN wETAEA
Feiedl & UTe § WRA & Tod8T A
sl et # gears o AfteR
B

(c) 38 # J§ AT B Afed
FoHaH AT 6 Tdh R
T4 & forg sawEs Bt €

@ & TR F fog o it
wHfeEr (Fead) 8

2. faam-viedt # 0@ " 3T AT U &
ey # fafofe st w fER
Hifsrg

1. ¥ FUEWS GEAdE HAed &
el ¥ wERE B € 3R 10
feat @ =0 & Aifer w Aifes S
& fore 9 o e €

2. ¥ I AW EaE -ﬁaﬁ Sl
g § afe et wel e o
A & forg wewa @

3. 9 AT UE UFHRE & KM
W® T &

I9EE # A B A F T € ?
(a) 1,233

(b) a1 32

(c) Haw 233

(d) Fae 133
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3. G8g 3R U9 fum-veal & gewt &
féar & "9y & wra & dfREm H
10 < gt & weifta fafofea # 3
I | I dE TR & ?

(a) ITgh aftelm w=ft ¢ f
Fraffaa we@ go-see & MR W
foeféa fordt st g ©

~ (b) TH-9_w & IER R FRE W
et oo # oo & wmet #
AR R B ®
(c) Fme & ame w=fRa w7 &
iy o e g fafiea
ST €

(d) S A FFgIR wd §, S A

WARd & S<aa9 g AfH

fams ear g
4. g 3R sdegat & frafafea gt
¥ o a1 /d 3w we gafera /% 2
L. T gHt ;| @R 3R
el
2. 99 gt : AWRaT,
eftgeor ik
Erlips
3. gHad gt : faftes, fafecda
IR 39 HaE™
d= fou T Fe W W W GE SN
(a) Faw
(b) 1,233
(c) ¥t 23X 3
(d) a3
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1. Which one of the following statements
about the Attorney-General of India is
NOT correct ?

(a) He shall have the right to speak in
the Houses of Parliament

(b) He shall have a right of audience
in all Courts in the territory of
India in the performance of his
official duties

(c) He must have the same qualifica-
tions as are required to be a Judge
of the Supreme Court

(d) He is a whole-time counsel for the

Government

. Consider the following statements
relating to short notice questions asked
in the Legislature :

1. These relate to matters of urgent
public importance and can be
asked for oral answer at a notice
less than 10 days

2. Short notice questions can_be
admissible if the Minister con-
cerned agrees to answer to it

3. Short notice questions are asked
during question hour

Which of the statements given above
are correct 7

(@ 1,2and 3
(b) 1 and 2 only
(c) 2 and 3 only

(d) 1 and 3 only

3. Which one. of the following is NOT

true of the 10th schedule of the
Constitution of India pertaining to
disqualification of members of the
Parliament and State legislatures ?

(a) The schedule lays down that
elected members may be
. disqualified on the grounds of
defection

(b) Disqualification on ground of
defection does not apply in cases
of merger with another political

party

(c) Cases of dispute are decided by
the speaker or Chairman of the
House concerned

(d) The Supreme Court of India is the
final arbiter in cases which remain
unresolved

. Which of the following pairs of list

and contents is/are correctly matched ?

Public health
and sanitation

1. State list

2. Union list Citizenship,
naturalisation
and aliens

3. Concurrent Legal, medical

list and other
professions

Select the correct answer using the
code given below :

(a) 1 only
(®) 1,2 and 3
(c) 2 and 3 only
(d) 3 only

A — GHY-F-BST
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5. frftRE iy e aR & 2

(2) ShamvpEt # wifiegs T € wy
it ¥ = S

(b) ShemEt # wdeifgar e @
vy Fremopstt # et S

(c) st & wEdeifRar dar @
g SaropEt # A& S

(d) FremEt § ww St fiech D6
® Tog Sttt % e et

Lafe fadt Fifie & S/ ek saf@m
wrew ft "igar Fifve ¥ e
aftrer ®, o PR A A S d o=
HeAT 'Rl ?

(a) T S FE0T A

(b) iy St Tog B SRl

(c) =S ufadw =€ |

(d) e wier A @

. GG et feret (RER) &I T
Tl ¥ qE R Ig gred et
2 | T e | fFeafafea #§

HIRHRT F I3 B & e Rt
R? .

(a) TRE &%
(b) T

(¢) T
(d) Tz
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8.

10.

11.

qredt #, T IR et i wrd # gy
BN & HROT _

(a) nid fwrsmas
(b) el fawsaras
(c) Yhdew fawsatas

(@) it g
.Uy Sifdrmret #, ey sk werar

fore & /T wem B ol R 2
(a) TEATEH

(b) HTSErRITaT

(c) Mt ST

(d) =i W@ ¥ W& g

¥ ufkad! e i SHEAT TG H S

B 99 & w faa s/e & qEwEt @

R et T @, @ uw A fag o @
&R

(a) ¥wia wwifey &7 & ST
(b) 3a "l &7 B S
(c) Hwia S =9 B S
(d) i SwTg TG @
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5. Which one of the following statements

is correct ?

(a) Bacteria contain cytoplasm but
- viruses do not

(b) Bacteria contain mitochondria but
viruses do not

(c) Viruses contain mitochondria but
bacteria do not

(d) Viruses have a cell membrane but
bacteria do not .

. Which one of the following will
happen if the medium surrounding the
cell has a higher concentration than the
cell ?

" (a) The cell will gain water
(b) The cell will die
(c) There will be no change

(d) The cell will lose water

. Rough endoplasmic reticulum (RER)
looks rough under the microscope
because of the attachment of which

one of following cell organelles to its
surface?

(a) Centrioles
(b) Plastids
(c) Lysosomés

(d) Ribosomes

The increase in length of stems and
roots in plants is due to

(a) lateral meristem
(b) intercalary meristem
(c) apical meristem

(d) secondary growth

. In plant cells, the turgidity and rigidity

is provided by
(a) ribosomes
(b) mitochondria

(c) golgi apparatus

* (d) vacuoles full of cell sap

10.

11.

Pollens are produced in

(a) Corolla -

(b) Style

(c) Stigma

(d) Anther

According to the Law of Diminishing
Returns, in a production function when
more and more units of the variable
factor are used, holding the quantities

of a fixed factor constant, a point is
reached beyond which

(a) the marginal revenue will diminish
(b) the average revenue will diminish

(c) the marginal product will diminish

(d) the marginal product will increase

A — GHY-F-BST
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12. frferfea § & w1 vl Wi & 2

13,

14.

(a) T Pofaar wfweht vt & sitaa
"oty SR iwia g 96 gofa:
¥GR B ©

(b) frlt TR wd = g
w95k SHeh sitaa gwrfy o6 &
SR BT R

(c) FdANTET U wiearht & ame
W € FAT ©

(d) argTEEdr #, USteR W @

et fer (3rR) & g @

AT & T A= T 'R (SR EE

sefeefdt e femie) = ared @

(2) S A St g A gRadw &, "7
# foretgper aftada €t Qe

(b) ST F TF B TRadq ), 7R A
T Brer TRadT B &

(c) Sma & us B IRad w, | &
T oy ufads e

(d) Hwa § & =3 aRadd R, | &
T BieT IRad gian 8

7 bR fe felt s f e
90 TIY | wgaK 110 T B St © 3R
WA 95% Ig quian © T ARl wft e 3
I g 240 SHE Y 160 37 & | T,
A it hHT A IOre e

(@) 1-0

(b) 2-4

(c) 05

(@) 20
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15. feredt Sfee =1 =w 1@t 24% = Wiy

16.

&l

18.

7§ B, | aafds == ) T ent,
afe geredifa 6 &= 10% & ?

(a) 240%

(b) 34%

(c) 14%

(d) 4%

frafafea & @ o 93 Rt (=

foufe) & &9 3 s ST @ 7

(a) AAHT :

(b) T

(c) WiATcsETSS

(@) ufefeerss ‘

frfifea & 3 9 o1 uw, foew o

I WeRfa wE wam ?

(2) 5@ & @ ann e fer g
Teh Ul

(b) @

(c) i & ure ffa qu ft g

(@) #e (Fe) foemm

et | & gaw (s@ w) & fg

waiftres sge sraedn, fafafea & &
e g ?

(a) f= g 3k o= Qe
(b) T g sk fopm qmomm
(c) S=9 g9 3R =4 qA9HH
(d) ¥=3 T R o= quwE
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Which one of the following is NOT
correct ?

(a) The Average Revenue and
Marginal Revenue curves of a
perfectly competitive firm are
perfectly elastic

(b) The Marginal Revenue curve of
the monopoly firm is above its
Average Revenue curve

(c) In the long-run, a competitive firm
earns only normal profits

(d) In equilibrium, the Marginal Cost
Curve of the monopoly firm may
be rising, falling or constant

Zero price elasticity of demand means

(a) whatever the change in price,
there is absolutely no change in
demand

(b) for a small change in price, there
is a small change in demand

(c) for a small change in price, there
is a large change in demand

(d) for a large change in price, there is
a small change in demand

Suppose that the price of a commodity
increases from ¥ 90 to ¥ 110 and
the demand curve shows that the
corresponding reduction in quantity
demanded is from 240 units to 160
units. Then, the coefficient of the price
elasticity of demand will be

(@ 1-0
(b) 2-4
(c) 05
(d 20

15.

16.

12,

18.

What is the real interest rate on a
Credit Card loan bearing 24% interest
per year, if the rate of inflation is
10% ?

(a) 240%

(b) 34%

(c) 14%

(d) 4%

Which one of the following is kIlOW;’l
as Wood Spirit ?

(a) Methanol

(b) Ethanol

(c) Formaldehyde -

(d) Acetaldehyde

Which one of the following will NOT
show Tyndall effect ?

(a) Chalk powder freshly mixed with
water

(b) Lime juice

(c) Few drops of milk mixed with
water

(d) Starch solution

Which of the following are the most

favourable conditions for liquefying a
gas ?

(a) Low pressure and high tempera-
ture

(b) Low pressure and low temperature

(c) High pressure and high tempera-
ture

(d) High pressure and low tempera-
ture

A — GHY-F-BST
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19. tgfafem, e, aw sk e fred
Frefifa ford smar € 2

(a) HAN: SEETEE, MACEE, AR
IR FomET |
(b) HY: AACTSE, THATEE, AATHEE
3R oA @ .
(c) AW FoHTEA, Aeirhrse, MeEe
IR STEEe @
(d) AN ATRIEE, MITEe, TEEEE
3R FomTEA |

20. frafofea # & e § COOH wwe =
BT R ? '
(a) Tafees sm=r
(b) wfFes =
(c) el st
(d) VEifds s

21. AeT-3 st & gar @

(c) oHRa 1 3R Aifeaw @wEiHe
=1 faea

(d) TR e IR e FEe
=l foega

22. frafafea # & 9, FRt o= ¥
(HrceT) & weiferg wEt a1 ?
(a) TwvETe fafem |
(b) Ioig RS
(c) JVHIH JeoiTe @i
@ &

GHY-F-BST - A
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23. wra fire & R F Frafofea ¥ ¥ 99
|/1/q T w8 AE /R 2
1. wag fie e =R @
woTfea &
2.3 fegam wivfree Rufsmea
a3 we A :
3. afre @ wfe AT @AY F

W ¥ W e ¥ 1929 §
forema 3 a1 S

Hiw g T T W W@ W a9 s
(a) 13K 3
(b) 23R 3
(c) Faw 2
(d) ¥ 3

24. $vavg faemanr & ar #§ feafafea #§

A N 1/ Fa e g /€ 2

1. femarR & S@e F el wr &
forrre & ST Heg Y '

2. I7¢ Wil & Jeiedr e &
“‘freaman’ &t sarfyr firelt

3. Rt it firen & vaR 9 dex o
SEd SIE a1

4. T TG g9YA & 9R A fIEw
W fomr fammerr 3 fowar fame
&1 gadq T

T i T Fe W W@ W wE S

fera

(a) 23R4

(b) 132

(c) o< 4

@ 3
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Aluminium, Iron, Copper and Zinc are
extracted from

(a) Bauxite, Magnetite, Malachite and
Calamine respectively

- (b) Magnetite, Bauxite, Malachite and

Calamine respectively

(c) Calamine, Malachite, Magnetite
and Bauxite respectively

(d) Malachite, Magnetite, Bauxite and
Calamine respectively

Which one of the following does NOT
contain COOH group ?

(a) Citric acid
(b) Lactic acid
(c) Tartaric acid
(d) Ascorbic acid

The Soda-acid fire extinguisher con-
tains

(a) sulphuric acid and solution of
sodium hydrogencarbonate

(b) nitric acid and solution of sodium
hydrogencarbonate

(c) sulphuric acid and solution of
sodium carbonate

(d) sulphuric acid and solution of
potassium carbonate

Who among the following was NOT
associated with the Kakori Conspiracy
Case ?

(2) Ramprasad Bismil
(b) Rajendra Lahin
(c) Ashfaqulla Khan
(d) Surya Sen

23. Which of the following statements

about Bhagat Singh is/are NOT true ?

1. Bhagat Singh was influenced by
socialist ideas

2. He was a member of the
Hindustan Socialist Republican
Association

3. Bhagat Singh threw a bomb in the
Central Legislative Assembly in
1929 with the objective to kill
as many people as possible

Select the correct answer using the
code given below :

(@) 1and 3
(b) 2and 3
(c) 2 only
(d) 3 only

. Which of the following statements

about Ishwarchandra Vidyasagar is/are
NOT correct ?

1. Vidyasagar’s writings significantly
helped to develop the Bengali
language

2. He received the title ‘Vidyasagar’
from Presidency College, Kolkata

3. He was enthusiastic about the
spread of women’s education

4. Vidyasagar defended widow
marriage without being convinced
about scriptural support

Select the correct answer using the
code given below :

(a) 2 and 4
(b) 1 and 2
(c) 4 only
@ 3

A — GHY-F-BST
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25. Sife@faTaem TR % R H 27.WeE A% Fee dgenE-2019 (fem

frafafea & @ @ @1/8 = |
®/%7?

1. SiferatareremT # @1 7 frgeh e
TR et s

2. YT T SR & HAM o 3ref o

3. el o ¥ wEy ¢ A Wt @
fieft e B et o @ o

¥ e T = = W W 7@ SR
e :

@) Fae 1

(b) Fae 1 AR 2
(c) 1,23R3
(d) Faw 23R 3

26. wRa frat=m smawt grr 9t aftemss
YR 3Mfee 3 (VVPAT) WUITl! =l SR
Ugell IR el foraT I A1 ?

(a) STt Wk Famas et a=,
S

(b) A foumEw faftem 8=,
ARTIS

(c) wrgan faurmaw fratew &=, Mar

(d) “wee faamaw fafa 8,
AT

- GHY-F-BST - A

28.

29.

SEET 6 HAGEAT-2019) R I TE
SMEET HI¥ (UNFPA) TRI Wi
aiffes Raid H fawg-aeg = a9 =0
2

(a) a8 s : folefem v ue
TS T T O AT gAsaferet
(b) T UER A% wizw : fonsfea
U3EH TS & SHWNThe it
(c) mfhiere fosma - g wie A%

() S AR WX f=w afq g

we fem feasfe o

af 2018 & fore frafofea & &
T T ¥ Rega feRar @ ?

(2) &. fran 3§

(b) HETEITR &

(c) TEHT ®EeE

(d) faiy avsg

T T, PR T d@ A GI W

e @, el A ww fre & | e w1
WS R ?

(a) ST s
(b) <fEmft sfeam
(c) Wrel, FERTY
(d) I, e
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Which among the following statements
about the Jallianwala bagh massacre
is/are correct ?

1. In Jallianwala bagh troops open‘ed
fire upon an unarmed crowd

2. The troops were under the
command of General Dyer

3. The troops did not issue any
warning to the people before
opening fire

Select the correct answer using the
code given below :

(a) 1 only
() 1 and 2 only
(¢).1;2and 3

(d) 2 and 3 only

The Voter Verifiable Paper Audit Trail

(VVPAT) system was used for the first
time by the Election Commlsswn of
India in

(a) North Paravur Assembly Con-
stituency, Kerala

(b) Noksen Assembly Constituency,
Nagaland

(c) Mapusa Assembly Constituency,
Goa

(d) Nambol Assembly Constituency,
Manipur

11

217.

28. Who among the

29.

Name the theme of the annual report
- published by the United Nations
Population Fund (UNFPA) on State of
World Population — 2019.

(a) Worlds apart : Reproductive health

and rights in an age of inequality

(b)

The power of choice : Reproduc-
tive rights and the demographic
transition

(¢) Unfinished business — the pursuit

of rights and choices for all |

(d) How our future depends on a girl

at this decisive age

following was
awarded Saraswati Samman for the
year 2018 ?

(a) K Siva Reddy
(b) Mahabaleshwar Sail
(c) Padma Sachdev

(d) Sitanshu Yashaschandra

“Kandhamal Haldi’, which received GI
tag recently, is a variety of turmeric
indigenous to

(a) North Bengal

(b) Southern Odisha

(c) Sangli; Maharashtra

(d) Alleppey, Kerala

A - GHY-F-BST
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30. 9Rg Aew v 3w o watew sdfe

31.

- 32.

33.

(fafaformm) wm & 2

(a) UTfeREaT™

(b) &Sa IRA

(c) Hgh X IR

(d) &R

v g Iesd adn et fafea wrem

# | IERd €, O S AW F ¥E ¥ 30
T IR (F9Rd) B At i §

(a) el HreEw & gerd
(b) hael Fl
(c) wems & yerd 3R Wt gEt

(d) S A & g TR

a PREw-235 & Tifers & gt A
wean fhaet et § 7

(a) 235

(b) 92

(c) 143

(d) 51

T EEE A &l F wer foeeh wda
R 5m/s H R F FR A AR A

? 13f 3000 e i wfth w SwE A
@ &, A S8 R foraan st&1 s /@ ?

34.

35.

36.

(a) 50N
(b) 100N
(c) 600N

(d) 15000 N

frRl dge geRm W % RA
freffes 3 @ S ad T 2 2

(a) YT FF=HIT T FoAT AT HHT
& g el ©

(b) agagwﬁaaiwaﬁgﬁaaim
e forar s wenar @

(c) A Trerhiw o Ieed Bt @

(d) G T=HT TG F GO hl
T uRaddt aga a9 JEhE
&t GRT Bt ©

frafofem & ¥ o9 @, @ &@
Jrh T AR E 7

(a) WY T

(b) e 7

(c) =fy o '
GV R

TR I 9AF H FRI §

(a) WY ST Sfereheor

(b) W 1 ferad

(c) VeI T gaw ‘

(d) WehIY T UT TR WRrac

GHY-F-BST - A ; 12
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Zayed Medal is the top civilian honour
of

(a) Pakistan
(b) Saudi Arabia
(¢) United Arab Emirates

(@ Qatar

When a longitudinal wave moves
through a certain medium, the quantity
which is transmitted through the
medium is

(a) material of the medium only

(b) energy only

both material of the medium and
energy

(©)

none of the above

d

The number of neutrons inside the
nucleus of the element Uranium-235 is

(a) 235
(b) 92
(c) 143

(d). 51

A snowboard pulled up by a tow rope
travels at the rate of 5 m/s up a
mountain. If 3000 watt of power is
used, what force was applied to it ?

13

35.

' 36.

(a) 50N
(b) 100 N

(c) 600 N

(d) 15000 N

. Which one of the following is NOT

true for an electromagnetic wave ?

(a) Electromagnetic wave transports
energy and momentum

(b)

Electromagnetic wave can be
polarized and reflected

(c) Electromagnetic wave is longi-

tudinal
@

Electromagnetic wave propaga-
tion is described by the varying
electric and magnetic fields

Which one of the following is NOT an
electromagnetic wave ?

(a) Light wave
(b) Radio wave
(c) Sound wave

(d) Micro wave

Brilliance of diamond is due to
(a) interference of light

(b) diffraction of light

- (¢) polarization of light

(d) total internal reflection of light

A — GHY-F-BST
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37.% & ot & fog Feafofee & @
A 9 g/ frard R /% 2

1. 9gaR afy ¥ GRE  AgHeaH
TAIIAT T 30°C 8

2. & 100 foAt fit guRdH smfyr

3. g Tt sraam Wt gRe T

d= g 70 Fe w1 W W a9 W
T :

(@) 1,23R3

(b) wae 1 3R 2

(c) %@« 23R 3

(d) ¥ 1

38, AR WewTe, fre A R R
(a) uTfreams
&) %
(c) W
(d) et

39. YR WG &1 SoR-9fTHl WA

WErEEaT & Us e & #
giafda e @ ar

(a) frevm &0 o &

(b) TRy e & weg §

(c) Torevra &oq & sRw & |
(@) fsrevm wew it wqul safy 3

GHY-F-BST — A

40. 98 "I wear n ¥ ® fes fog
3°+312+ 315+ 3" & qUiEEAT W TH
o (FE) ® ?

(a) 10
(b) 11
(c) 13
(d) 14
41. 7 T 99 3K T F & e wEm
g, a«
(a) SAF BB SR ©

(b) T T EAR I & BT 4 AR
3 _

(c) o & &7 I & &hA & IAfrn
e :

(d) I T SR M H AR o
TR -

42. W9 |ifT X2 +y2=1;
w?+12=1 3R
xu+yv=0‘%,?ﬁ'

1. 2 +u?=1

2. 2+v2=1

3. xy+uv=0
STYTH # | A W/Q wE R/ ?
(a) e 3

(b) Faet 132

(c) 1,23R3

(d) Haer23X3
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Which of the following conditions
is/are essential for wheat cul;ivation ?

1. Optimum temperature during
growing period is around 30°C

2. A frost-free period of about
100 days

3, Light clay or heavy loam soil

Select the correct answer using the
code given below :

(@ 1,2 and 3
() 1 and 2 only
(c) 2 and 3 only

(d) 1 only

Gwadar port is located in
(a) Pakistan

(b) Iran

(c) India

(d) Sri Lanka

North-west part of the Indian peninsula
was converted into a great centre of
vulcanicity in

(a) the end of Cretaceous period

(b) the mid of Cretaceous period

(c) the start of Cretaceous period

(d) the whole of Cretaceous period

15

40. What is the natural number n for- which

41.

42.

3%+ 3124315+ 37 js a perfect cube of
an integer ?

@ 10
(b) 11
) 13
@) 14

If a circle and a square have the same
perimeter, then

(a) their areas are equal

(b) the area of the circle is greater
than the area of the square

(c) the area of the square is greater
than the area of circle

(d) the area of the circle is two times
the area of the square .

Let x2+y*=1;
w2 +v2=1 and
" xu+yv=0, then

1. 2+u?=1

2. ¥ +v2=1

3. xy+uv=0

Which of the above is/are true ?
(a) 3 only

(b) 1 and 2 only

(c) 1,2 and 3

(d) 2 and 3 only

A — GHY-F-BST
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af (e o B Bew) = e
fem fer @1, a9 s a¥ @ = =
S |1 a1 ?

(a) "FER

) FEr

44,

45.

(c) vffEr
(d) =T # ¥ =S 7R

AR H AR 10 Hiex 3R i @R
10 R FA@GT ® | T TAF IR
Fot St AR qgAR q@ T 5, 15
IR 15 AR Foar R | 3 @€
afis g A e g ? 2

(a) 55 Hex

(b) 23 Hix

(c) 5#x

(d) H ¥ RS &

T & dAifde F fews T #,

| PR 3 & o o o T & 2

46.

(a) &M 9= &1, fen w1 3k o
AWl H Wl gerdal 9 w6l
FER

(b) -miReRt & forg wam Rifeer dfean

(c) =auTerh &1 wETerRT A
FREEON] :

(d) WHE @IEdT & WeEd #
wHERT 6t ARfeRt

Frafafea & @ fra g /wfees &
FIER UomE R S & fawew @
wafta fofa =7 =gt it o -srot

faram awrsl & weEll & WaeE % STUR

R forar ST o ?

GHY-F-BST - A
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47.

(a) wew fard

(b) T firym =
(c) safer fard
(d) ' ATSvESeT W

A I & eyl Auel figea &
aR # frafofes & @ @ @1 /@ ===
T R/R?
1. I8 Wee T & =Ra @ Sf axar
? 1
2. SIuTTEl TEATHS IR
AR favwarst & ae g€
BRI

Y R ™ g W W 9 IR

: .
(a) Fae 1
(b) Hae 2

‘(c) 1 3R 2 g1

48.

(d FqL,T82

[T W AT & ey g & wweey #
frafafaa & @ <9 a1 =u= wd =@
?7? ' e
(a) T5a H A & feys T =
qed TS9 WATEA & WS %
wrg-arg wr fmfor 3§ ot s
®b) T Hfit Aifs F fRys =
e dfauE & | T ¥
& A T T o § :
(c) T & wex foarg i fafer F wsw
& At & s T@, W
AR T 3war @ &
d T @i Ay F fws T
et § yadA el §
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If the first day of the year (other than
the leap year) was Sunday, then which
was the last day of that year ?

(a) Monday
(b) Sunday
(c) Saturday
(d) None of these

44. A walks 10 metres in. front and 10
 metres to the right. Then every time

45.

46.

turning to his left he walks 5, 15 and
15 metres respectively. How far is he
now from his starting point ?

(a) 55 metres

(b) 23 metres

(c) 5 metres

(d) None of these

Which of the following is NOT

provided for under the Directive
Principles of State Policy ?

(a) Right to work, to education and to
public assistance in certain cases

(b) Uniform Civil Code for the citi-
zens

(c) Separation of Judiciary from
executive v

(d) Participation of workers in the
management of local-self govern-
ment

According to  which one of the

following. plans/reports, the decision
with regard to the partition of Punjab
and Bengal was to be taken on the
basis of voting of the Members of the
respective Legislative Assemblies ?

17

47.

48.

(a) Nehru report

(b) Cripps mission plan
(c) . Beveridge report
(d) Mountbatten plan

Which of the following statements
about Max Weber’s ideal theory of
Bureaucracy is/are correct ?

1. It refers to the dominant class
character.

2. Bureaucracy is associated with
structural and behavioral charac-
teristics.

Select the correct answer using the
code given below :

(a) _1 only

(b) 2 only
(¢) Both 1 and 2

(d) Neither 1 nor 2

Which one of the following statements
regarding the Directive Principles of
State Policy is NOT correct ?

(a) State shall follow the Directive:
Principles of State Policy both
in the matter of administration
as well as in the making of laws

(b) The Directive Principles of State

" Policy embody the object of

the State under the republican

Constitution

(c) The Directive Principles of State
Policy have precedence over the
Fundamental Rights in case of

conflict between the two

(d) The Directive Principles of State
Policy are not enforceable in the

Courts

A — GHY-F-BST
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49. TR WA H GRAYG A areft
oo, Frafofe 3 @ < @ € 2

1. ifqefs  w@R  sitesle,
ama: foften, frast w smeanfa
eIt ® ‘

2. MRIRG  W@aFaradl 3R Aafhs
Fferert fit wemyfer Bt @

3. 9% UoHifas WifteR &, a%ad:
st afer & ay fafifea axat
?

T A W e W W@ W S IW
;.
(2) Saer13R3
(b) Faer 1 3R 2
(c) Fae2 3R 3
@ 1,23R3
50. HIBTEE URT FW W FW F fog
IR B € ?
(a) T SARR WH &
(b) =gl aTarERe #
(c) USH ARy & ‘
(d) wfra SaTemEg a3
51. fFrafafea & & @7 @1 e doe
(Arsfian) & wafRm @ 7
(a) lﬁﬁﬁmaﬁtmwﬁ
(b) YR SR 3R T T
(c) w1 ok T o
(d) = SR WrEHA

GHY-F-BST - A

52. forelt dew % WR® N YW h AR 7F
e fore @ weftm @ 2

(2 YT H A
(b) EATCHSE WeRIAMAT
(c) RUITCHS: WeRISIgacd
(d) <rferenTferar
53. 919 el & RIET SRR g
HEAEW Fae i foFed sreret § 2
(a) ATH '
(b) T A
(c) sragaH
(d) =¥
54. 0% TE-foga word ¥ w9 # wnéw

(THfes) = &7 & wgeh R st
RIHATIRaT® ?

(a) Hg
(b) Si
(c) Ti
" (d) Sn

55. St g & ferq fraforfea & @ =
wgeh TR smar @ 2

(a) Mg(HCOs3),
(b) Na;PO,
(¢) NagP¢O,s
(@) Na,HPO,
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Which of the following are the
defining features of liberal demo-
cracy ?

1. Constitutional government based
on formal, usually legal, rules -

2. Guarantees of ,civil liberties and
individual rights

3. It invests political authority with
potentially unlimited power

Select the correct answer using the
code given below :

(a) 1 and 3 only
(b) 1 and 2 only
(c) 2 and 3 only

(d 1,2and3

Phreatophytes are the plants adapted
to grow in

(2)
®)
(©)
d

moist shaded places
rocky environments
arid environments

active volcanic lava

Which of the following organisms
belongs to Coelenterata (Cnidaria) ?

(a) Planaria and liverfluke
(b) Sea urchin and sea cucumber
(¢) Hydra and sea anemone

(d) Euplectella and sycon

19

52.

53.

Bending of shoot of a plant towards
light can be referred to as

(a) photonasty
(b) positive phototropism
(c) negative phototropism

(d) photoperiodism

Epidermal cells of plant roots increase
their absorption surface by having

(a) /Scales
(b) Root hairs
(¢) Endodermis

(d) Stomata

. Quartz is extensively used as a piezo-

electric material. It contains

~ (a) Hg

-

() Si
() Ti

(d) Sn

Which one of the following is used for
water softening ?

(a) Mg(HCO3),
(b) NayPO,
(c) NagPgOss

(d) Nazl'lPO4

A — GHY-F-BST
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afe s FomEE X & wifsaw @ o g
Na,X &, O 0% TegHIfs waur &
A 1 BRI ?

(a) AIX ..

(b) AlX,

() ALX,

@) ALX,

w foar aRt (3) arch e srdee

#, afe i SuA waft @ 0-90 &,
A R N A (YF) FIT BN ?

(a) 10-00
(b) 1-00
(c) 0-90

(d) 0-10

e Faa fagia (e 1 frga) &
FIAR, A4 & foeg a7 SUART 9% H
YaurET gidl §
(a) ATcH

(b) FUITHS

(c) =

() =

GHY-F-BST - A
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59.

60.

61.

frafafea & @ =9 @1, & I

e (Sed HiforT) T IeTeRer ® ?

(a) ¥RA # gar$ FHfEr grr waiia
fom

(b) foege & Fe W vt fiug

(c) =TT JeuTgt & ford gaw wwda

g .

(d) T wER g frafRa AaH
et

T FIaeT S YR IeqTe GHTEAT

g (FuEs) | B, & daw §

feffmda o smad £ 2

(a) Freht ot aeg o1 SR g F
for srferaea &t w9 F IO
SCTEA ! WAL T (FH AT
M)

(b) 9 T AR F I H,
sdegaear & fog ¥ @ san
wfoey & ®

(c) sfaea & foag @& el
g W s Saen foht @l
TE & IR W TR foAT, W
el ©

(d) SHH IATEHA WHTEAT Wik Th
JETHT WeuET 9%

“Praeafiar fRawme’’ (e are
frge) i smuR N fFem s@ @ ?

(a) wew fom

(b) ks Tl
(c) 9 A9TE &=
(d) 9 Q. fwgere
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If formula of sodium salt of an anion
X is Na,X, then the formula of its
aluminium salt would be

(@) AIX
(b) AlXj
(c) AlX;

(@ AlLX;

In a closed economy with no taxes,
if the marginal propensity to consume
is always 0:90, then the value of the
multiplier will be

(a) 10-00

(®) 1-00

(c) 090

(d 0-10

According to simple Keynesian theory,
curve against income is

(a) Positive

(b) »Negative »

(c) Zero

(d) Infinity

21

59.

60.

61.

Which one of the following is an
example of a price ceiling ?

(2)
(b)
(©)

Fares charged by Airlines in India
Price printed on biscuit packets

Minimum. support price for cane
growers

(d) Minimum wages fixed by state
Governments

Which one of the following statements
is true with regard to an economy
which is on its production possibility
frontier ?

(a) The economy has to sacrifice
some production of one commo-
dity in order to increase the
production of another commodity

There is no limit or constraint for
the economy in the production of
goods and services

(b)

The economy can produce more
of one commodity up to a point
without reducing the production
of any other commodity

©)

d

Its production possibility frontier
is an upward sloping curve

Who coined the concept of “Paradox
of Thrift” ?

(a). Adam Smith

(b) Alfred Marshall

(c) John Maynard Keynes

(d) Paul A. Samuelson

" A - GHY-F-BST
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62. frfofea & @ o7 & o= afifew &
AR & 941 & IRfE, whim sk
artor a1 7 el femar 2

(2) @ sfafemm 1864
(b) == aftfaw 1865
(c) = sfifem 1866
@ = sfafram 1878

63. Frafafea Teamit w fmr fifv
1.@&%'&%
2. 3 WA hi YT
3. gl A 6 wYen
4. T Heet Y w9
ST W GE  HETRAS
fraffm A a R a g 2
(a) 1,2,3,4
(®) 2,3,4,1
() 3,4,1,2
(d 3,4,2,1
64. T 1905 & @l AQeM & ded &
fraffe i d AT ad € ?

1. STl | A9 Wealw s faa
q

2. HAHT W gdTel hl TS

3. g il e ARG gr
& S o, fig ag F oW #

shiferTt Tgafedt % @ s gt
# 3 forar

GHY-F-BST - A
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66.

67.

= fou T Fe W oW Wl S
wfer ;

(@) 1,23R3

(b) a1 3R 2
(c) Faw 23R 3
(d) %ae 133

.G AN T R ?

(2) Frfor weeranfeat i s
(b) Ieeare wEmETAt $ W
() Fraam ezt 6 s
(d) | EEaTieat dt wIST

afe gzt o1 fRefm wwae =@ =
(aftswm-ug) &t @R g gom wE B,

at

(a) o 6 smfs st wwah Bnft

(b) UrsH =g 3R siferes W Bl

(c) gell # ¢ sigema &l B

(d) sfia g Frer iR tfres wwa SR
Pl 3 ¥ @ a1, T AW T
TR ?

() &

(b) 3ga @

(c) et

(d) ==HT
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Which one of the following Forest
Acts divided forests of India into
reserved, protected and village forests ?

(a) Forest Act 1864
(b) Forest Act 1865
(c) Forest Act 1866
(d) Forest Act 1878

Consider the following events :

L vFound.ation of the Ramakrishna
Mission

2. Foundation of the Arya Samaj
3. Foundation of the Brahmo Saxhaj

4. Foundation of the Paramhans
Mandali ;

Which one of the following is the
correct chronological order of the
above ?

@ 1,23, 4
®) 2,3,4,1
©) 341,72
d 3,421

. Which of the following are true in

the context of Swadeshi movement in
1905 ?

1. Massive demonstrations were held
in Bengal

2. Hartal was observed in Calcutta

3. The movement was initiated by
the moderates, but was taken over
by the revolutionary nationalists at
a later stage

23

65.

67.

Select the correct answer using the
code given below : . - :

(@) 1,2 and 3
(b) 1 and 2 only
(c) 2 and 3 only

(d) 1 and 3 only

What is Sant bhasha ?

(a) Language of the nirguna mystics

(b) Language of the ulatbansi mystics

(c) Language of the nirakar mystics

(d) Language of the saguna mystics

. If the equatorial plane of earth is NOT

inclined to its orbit, then

(2)

duration of the year would be
longer

summer would be warmer

(b)
(©)

there would be no change of
seasons

d

winter would be longer

Which one of the following is NOT a
luminous object ?

A .(a) Sun

(b) Electric lamp
(c) Candle

(d) Moon
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v Tt fon = Wy & o famor
g9 W Afed B fear smar R, @=
frfa 2 9@ f&a v & fog
HAftrrew e BT @ ?

(a) Tl Hehtdn

(b) ST WERTT

(c) Wi WehTyr

(d) e wemTar

frafafega & & o9 & = gRee
wafy o gro welifa w& 6t s gat
??

(a) WEdA

(b) IUEEH

(c) =afaam

(d) gau

FF avfeEd (IR wEenTh) #
frfea frgia ®

(a) raME

(b) fawe=

(c) Tdman

(d) - aTSaNTieraT

wRa & Frafafaa # a o= &, =9

HEIIUIT a7 ATS0TeA & iciid [aTeiad
FAhHA © ?

(a) T wewr
(b) IEUTES WS
(c) wAfes
(d) STREE

GHY-F-BST - A

72. 9UF  QOEHE W WEE W91 g

fraffeg S AT a2 7
(@) B |
(b) ErFEHTES!

(c) Tarerg

(d) T3

73. Tt & @ 97 a1 seny sifteaw

AR AT & B < IRl & ?
(a) 20° N &y
(b) 22° N &
(c) 24° N &Y
(d) 26° N F&rIr

74. SR & gferor it R fewrerdt wda St

&) =1 @ s Frafafes & @

AR ?

(a) FRIGRA, TR, SR, TR G971,
firarfers

(b) WM, R, TR U, FRIGRH,
frenfers

- (¢) YR G, SER, FRIORH, WG,

Rrarfers

(@) fiafee, SR, 4R 9w, @@,
HRIDBIH

75. AARE ©

(a) SO0 3Afem =1 us weww o
(b) Wi FI TH HgH gaa

(c) FHEHERRIT & it Uk TGl GEel
(d) fror srfirent & ww ST
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When a beam of white light is allowed
to fall on a prism, the maximum
deviation of the emerging light occurs
for

(a) red light
(b) violet light
(c) yellow light
(d) blue light

Which one of the following pheno-'

mena CANNOT be exhibited by sound
waves ?

(a) Reflection

(b) Refraction

(c) Interference

(d) Polarisation

The principle involved
chromatography is

(a) Absorption

(b) Partition

(c) Solubility

(d) Volatility

Which one of the following states of

India has the largest area under dense
evergreen forest cover ?

(a) Himachal Pradesh
(b) Arunachal Pradesh
(c¢) Karnataka

(d) Uttarakhand

Download More Papers From GovtJobsAlert.In

in paper
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72.

73,

Which one of the following is the
- biggest Island of Japan archipelago ?

(a) Honshu

(b) Hokkaido

(c) Shikoku

(d) Kyushu -

Which one of the following latitudes

passes through maximum - Indian
states ?

(a) 20° N latitude
(b) 22° N latitude

(c) 24° N latitude

74.

75.

(d) 26° N latitude

Which one of the following is the
correct order of Himalayan ranges
from North to South ?

(a) Karakoram, Ladakh, Zaskar, Pir

Panjal, Siwalik

(b) Ladakh, Zaskar, Pir Panjal, Kara-

koram, Siwalik

(c) Pir Panjal, Zaskar, Karakoram,

Ladakh, Siwalik

Siwalik,  Zaskar,
Ladakh, Karakoram

@ Pir Panjal,

Sonoran is a

(a) desert area of North America

(b) seasonal wind of France

(c) cash crop of Mediterranean region

(d) tribe in South Africa

A — GHY-F-BST
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76.W@f@1@ﬁwﬁzﬁwiﬁ3ﬁ(

safeafot &1 adt s Frafafe &

AFTATR ?

(a) AR 6t GEI — YT TASHEHE —
qTeeh @rel

(b) UTEH TASHEHET — HHR S QIS —
qTeeh @rel

(c) UTh SoeHEHT] — UTeh @TEl —
TR 6 gt _

(d) I W — U STASHETET —
THR $it @t

77. famn wem 3k wifRas Mo @
e e FreafRa da S ar € 2

(a) FEEIAIR] T GHAT FAT

(b) srvitm (feanrss) faerarers @sat
@ wfearfed war

(c) S R I &
(d) Sierarg IRad= &1 qEET SRAT

utw P - wfm, g, A, sfa
#R |ie € | v e # g ¥ Brer

78.

? AfF A A T | At T

@ R | fa e Qe B sk
e ¥ Ay W ARk A W H
feame @ 75 gu s A @3 ©, @ AW
M R HH BNl ?

(a) sfia
(b) @
(c) ufem
(@) o

GHY-F-BST - A
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79. 3 M, N&T WE ®; B, N = i ® sk
M,D & WE ¢, 99 el d ¥ 9
e ffa s dad 2 ?

(@) N,B&T WS R
(b) N, M1 95§
(c) NNDHTHE R
(d) M,BwHTAER
feet fafire W ¥ GAMBLE =
FBLCKF & &9 # e oig form wmar @ |

W&t fmd s % FLOWER = R
WE % =g ferar w2

(a) GMPVDS
(b) GKPVFQ
(¢) EMNXDS
(d) EMNTDS

80.

WA H, R AW E P
T g2 & 7 wgy € 3k S B wer
F1 % | fww asg o gf |

(a) Friendship

(b) Intimacy

(c) Attachment

(d) Enmity

81.

ferelt wem @ weat ww 53 ¥ 9w
AT & 57% FT BRI ?

(a) 136-74

(b) 149-46

(c) 18126

82.

(d) 197-16
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Which one of the following is tﬁe
correct sequence of the positions in the
Bay of Bengal from North to South ?
(a) Gulf of Mannar — Palk Strait —
Palk Bay

Palk Strait — Gulf of Mannar —
Palk Bay

(b)

(c) Palk Strait — Palk Bay — Gulf of
Mannar '

(d) Palk Bay — Palk Strait — Gulf of
Mannar

Which one of the following is the main
objective of Vienna Convention and
Montreal Protocol ?

(a) Combat desertification

(b) Formulate sustainable develop-
mental goals

(c) Protection of ozone layer

(d) Combat climate change

There are five friends — Sachin, Kunal,
Mohit, Amit and Sohan. Sachin is

 shorter than Kunal but taller than

Sohan. Mohit is the tallest. Amit is
little shorter than Kunal and little taller
than Sachin. If they stand in the order
of increasing heights, who will be the
third ?

(a) Amit
(b) Sohan
(c) SachinA

(d) Kunal

27

79.

80.

81.

If M is brother of N, B is brother of N'
and M is brother of D, then which one
of the following statements is definitely
true ?

(@) N is brother of B

(b) N is brother of M
(c) N is brother of D
(d) M is brother of B
If in a certain language GAMBLE is

coded as FBLCKF, how is FLOWER
coded in that language ?

(a) GMPVDS
(b) GKPVFQ
(c) EMNXDS
(@ EMNTDS

In this item, four words have been

~ given, out of which three are alike in

some manner and the fourth one is
different. Choose the odd one out.

(a) Friendship
(b) Intimacy

" (¢) Attachment .

82.

(d) Enmity

One-sixth of a number is 53. What will
be 57% of that number ?

(a) 13674

(b) 14946

(c) 181-26

(@) 197-16

A — GHY-F-BST
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#&ﬁwﬁﬁa%aﬁraﬁ 200% wier fear

WTaT § 3R W 300% & fear smar

2, & wRomh B 5 % | e

gt ? :

(a)

(b)

(c)

(d

g I T wga fodwar, feafafea

Ay @ A g ?

(a) @R fraifva geufat & ot #
B ®

(b) fratem & saficar 2R =1 sfter
yfeefta (difie) g @

(c) =EEe 9k W &t agent 9t
HAGH oA & ARFR Bar g

(@) = & wax sfafs ot & @k
AT A 9T Ry A
FftrerR Bt

ga-fadge it gl & feafofea &
AFT A A AT R ?

(a) AR WHR TR qifdea o 7w
Torelt forclier w1 & ey & i
g

) vRa & dha B ¥ @ &
S (T

(c) ATV 117 N R F IR
=i focfir fodges

(d) wa K wha 7y & g7 =
feferatsm

b Sk Sk ok

GHY-F-BST - A

86. ‘W vem FeRt & R N AR

87.

IR FAT f @ @A w1 sER
g gud Wa g, WRa F W
& frafafea & & e swr =1 Swey
27

(a) Tsa A Hifa & Feyes 9=

(b) T Fleq

(c) 7= sfeere

(d) Iefrr

frefafes & & s & @
(sftemfeht) ‘A SRl @
A ol F Gl ?

(a) =g afufar

(b) T faftrer dar afufy

- (o) forem wrfte

88.

(d) 3= gred faftes dar wfify

aateer srfvarfeat’”’ (sRfeaew) &

oy # fafafea § @ 99 @1/3 =09

T R/R?

1. i fawm@ ® f6 gt | A
A gt A qeT HA H e
i Hrett & HIY de @aATE €9
AT|@RE

2. ¥ w SEEn fgEe 6 w1 )
g

3. A FH IUANT I IR FA ufire
JATGH Saaell | & e &

™ A W = = W R w6 S

g :

(a) Fa

(b) Hae 2

(c) 1,233

(d) Faa23R3 .

" Download More Papers From GovtJobsAlert.In


https://govtjobsalert.in/

83.

85.

Download More Papers From GovtJobsAlert.In

If the numerator of a fraction is
increased by 200% and the deno-
minator is increased by 300%, the
resultant fraction is %. What was the
original fraction ?

@ 1
®) 4
© 2
@

. Which one among the following is

NOT the central feature of Polyarchy ?
(@)

Govcmmcﬁt is in the hands of
elected officials

(b)

(c) Practically all adults have the

right to vote

d

There is free expression and a
right to criticize and protest

Which one of the following does NOT
fall under the definition of the Money
Bill ?

(a) Amendment of law with respect to
any financial obligations under-

taken by the Government of India

(b) The payment of money into the

Consolidated Fund of India

(c) Any financial bill as per require-

ments of Article 117
@

Appropriation of money out of the
Consolidated Fund of India

Right to run for office is restricted

29

86.

87.

88.

“To cherish and follow the noble ideas
which inspired our national struggle
for freedom” is a provision of which
one of the following of the Constitu-
tion of India ?

(a) Directive principles of the state
policy

(b) Fundamental duties
(c) Fundamental rights
(d) Preamble

Which one of the following authorities
CANNOT organize ‘Lok Adalats’ ?

(a)
®)
©
(d)

Panchayat Committees
Taluk Legal Services Committee
District Authority

High Court Legal Services Com-
mittee

Which of the following statement(s)
is/are correct in respect of the
‘ecoradicals’ ?

1. They believe that human societies
on earth are moving dangerously
closer to the limits of the earth’s

carrying capacity

2. They call for strict population
control

3. They stress for less consumption-
oriented and waste-producing way
~of life

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) 1,:2.and 3
(d) 2 and 3 only

A - GHY-F-BST
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89. wrdAT T & R ¥ frafefea # @

90.

91.

FT AR TN ?

1. 36 S fog @A # R &
ban)

2. 9% WeRy # snuiika o1

o favama wehvaaTg # A

4. T TG WA B dgd WA
foar =

= ™ T W TR W g SK

g .

(a) Faer 1 3R 2

(b) Faet 2 3R 3

(c) 1,233

(d) 134

wrfi TEEfEt ¥ 1892 % wRRE
e (fufam) = fore <=t fomar ar 2

W

() e fum aReg & wewt 6 wer

@ QS A .

(b) Widtg YRWST & Hew&al Sl & el
o TS o

(c) uRwgl #t arfde soic R ==t @
=1 siftreR < fear |

(d) 30 TR | eSS SN W)
aRaat bt FEE A€ fear ar

LT Fd9d ek Sl SfaeE H N

SIE] SIrar a1 ?

(a) 1857 & fage & = S=M
fafest (ze) & faoms oo
"o &1 Age T an

(b) F Tiefiamet T & SrelS A

(c) 1870 & o& # I Wl &

fooms s ayw e &1 AgE
fern

(d) ¥ AR THT FAF F TH AR
qfRad=arel Jar &

GHY-F-BST - A

30

92. frfafea it wmaAm = FrengEiE

93,

94.

F # waferd AIfg (IR ¥ ¥& w=a
®Q) :

1. ¥ 3fear wafmm

2. AT WIS WHT

3. HgE HETS €I

4. S A TEftosE

= e T fe &1 W@ W T W
e ;
(a) 1,2, 3,4

(b) 1,3,2,4
(c) 2,3,4,1

d 3,2,1,4

TR (AgAFeR) f Rer i@

i witg ot ?

(a) ¥ TG AT Fioat o

(b) A T=ATY, VAT AR A

(c) ¥ =g wRE g of |

(d) ¥ A wify =Een & faeams
e weg o

wve fawm gEeie (HDI) A9 &
IPER, FRG A H QW W oG
T feafofig A R ar g 2

(a) ITRes, 79, s, fegrde
(b) 7, fergs, sefemr, smds
() 7, stefern, smaets, fergets
(@) TEes, e, 1, s
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89. Which of the following statements

about Prarthana Samaj are correct ?

1. Its aim was to reform the Hindu
society 2

2. It was based in Maharashtra
3. It believed in monotheism

4. It had greatly influenced the
Brahmo Samaj

Select the correct answer using the
code given below :

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1,2 and 3
(d) 1 and 4

90. Why did the early nationalists oppose

the Council Act of 1892 ?

(a) The number of members of the
Imperial Legislative Council was
increased

The number of members of
Provincial Councils was increased

(®)

(c) The Councils were given the right

to discuss the annual budgets

The Act did not give the Indians
control over the public funds

d

91. Why was Vasudeo Balwant Phadke

known in history ?

(a) He led a violent struggle against
the British ‘during the revolt of
1857

He was a critic of Gandhian
struggle

He led an armed uprising against
the British in the 1870s

He was a radical leader of the
Indian National Congress

(b)
(©)

(d)

31

92.

93.

Arrange the establishment of the
following in a chronological order
(starting with the earliest) :

1. The East India Association
2. The Poona Sarvajanik Sabha
3. The Madras Mahajan Sabha

4. The Bombay Presidency Associa-
tion

Select the correct answer using the
code given below :

(@ 1,2,3,4
®) 1,32, 4
T, 4, 1
@ 3,21,4

Why was the Sittar poetry of Tayauma-
navar famous 7 .

(2)

The writings were nationalist
compositions

(b)
(©)

The writings were romantic epics

The writings were devotional
songs

d

The writings were protests against
the caste system

. Which one of the following is the

correct arrangement of the countries in
descending order according to Human
Development Index (HDI) value ?

(a) Ireland, Norway,  Australia,
Switzerland

(b) Norway, Switzerland, Australia,
Ireland

(©) Norway, Australia, Ireland,
Switzerland

(d) Switzerland, Ireland, Norway,

Australia

A — GHY-F-BST
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IShRfearH] YS! 9 S & &F
e A d s adi s & ?

(a) Frcifiae gera: Jw i
(b) Fr-wafiEr & gea: Sfdm sk

cfa-gd  fimn - #  smeRdE
dQull a9t 99 &l A Blg W

(c) et Srhient iR St arfegforam

(d) S8 sifaT qera: eftror-ufvadt
sfat

IergH ®

1. YHERG AW Hew

2. d ag 3R gh! qaA

3. qEMET AT

4, ateafa ok foear (afmon) =t
# ufadasfia

A T T Fe w1 E R e SW

ﬁﬁ'q:

(a) 1,234

© (b) Shaw 2 3R 3

97

(c) 133
(d) 2,334
forelt iftha aftar grr @ (srafessa)

Sielteeh fHEdl & geeh | gie €994 &,
fore &9 # ST ST @ 2

(a) e Aferswt
(b) Sefe w@T
(c) eI
(@ feama

GHY-F-BST - A

98.

99.

100.

frafafea & @ =9 @1, @& wEw-
mﬁ@mﬁmwwﬁ%?

(a) w0 fFEg

(b) =% =Tt 3R fem wis (3= FR)
(c) arsTeet fegd

(d) sremTer frem

INSPIRE SI WRd ®W&R & T&H AR
ved ®, fomforg & 2

(@) fmm stk smEam ¥ wiown =t
I F=A & forg

(b) wfyrEwr (WeEmed) & mem @
FgEe™ Sfa & fog

(c) i s&T wafat & <=
SEET W FgET 3 & forg

(d) ITEEH & I9gH () A A
UTEATgTh SR @ ST

e e A g 150 v & A A
e 90 VAT % 40% T el Tl IW
fean & | afe dqof wen F S 60% i
WH SRA © dl AY 60 Wl & foRaq
wfcrer =T STR SA Bi-3ieh SAT BRI ?

(a) 75

(b) 80

(c) 85

(d) 90
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Which one of the following does NOT
fall in the areas of tropical deciduous
forest biomes ?

(a) The Neotropics mainly West
Indies

(b)

Indo-Malaysian zone mainly in
south and south-east Asia except
equatorial evergreen rainforest
areas

Eastern Africa and northemn

Australia

(d) North America mainly South-west
America

(©)

Doldrum are

1. equatorial calms

2. calm and light winds
3. roaring forties
4

. variable both in position and in
extent

Select the correct answer using the
code given below :

(a) 1,2 and 4
(b) 2 and 3 only

(c¢) 1and 3

@) 2,3 and 4

The gently sloping accumulation of
coarse alluvium deposits by a braided
stream is known as

(a) sand bar
(b) alluvial fan
(c) bajada

(d) diaras

33

98.

- 100.

Which one of the following is NOT a
palaeoclimatic geological indicator ?

(a) Lacustrine deposits
(b) Ice sheets and ice cores
(c) Evaporite deposits

(d) Sedimentary deposits

. INSPIRE is an ongoing initiative of

Government of India for

(a) attraction of talent for science and
research

research advancement
nurturing

(®) through

(©)

promoting research among various
S & T stakeholders

(d

augmenting quality manpower in
niche areas of research

In a test consisting of 150 questions,
Neha answered 40% of the first 90
questions correctly. What per cent of
the 60 questions does she need to
answer correctly for her score in the
entire test to be 60% ?

@@ 75
(b) 80
(c) 85
@ 90

A — GHY-F-BST
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TS 98] & 2700 T # I | TH
=afh @A 10% Hit wift et ® | 3l 9%

IG G Sl 3600 TR FH a9, o IgH

aw foram wfoera g ?
(a) 15
(b) 18
(c) 20
@ 25

Suft BCYX, EFVU, HISR, KLPO, ........
S ITAT Y 99T BRI ?

(a) NOML
(b) NOLM
(c) ONML
(d) ONLM

T gAad Ui, Sr@ 2940 & o FRA
W T QO S S, R ?

(a) 10

() 15

(c) 20

(d 35

o A st A Rl we ¥ s @
avg § wea fear s § @ e w0
WA 27 &g WaT § 1 UE © 3t aret
HEATAT &1 AN ©

(a) 235 |

(b) 249

(c) 213

(d) 180

GHY-F-BST - A

34

10s.

106.

107.

afg 5472=9, 6342 =6 3R 7584=6
®, T 9236 T ® ?

(@ 2

(b) 3

(c) 4

@ 5

o s & o wewm & w9 # fugw
fordr s & forg foreht =afen *g staws
e fefefes & & <7 @ € 2
1. IoAqH AT HT hIS AHETET
ot gt w9 # fages R o &
fore siféa 1€ =fn
2. 7% =ftr Fra frita w3k
| WEA H AT AT B

3. @& =t fd sdfure = fafyre
TE =

A Ru T e WO R A SR

3ﬁQ:

(@) 1,23R3
(b) Fae 1 3R 2
(c) haer 2 3R 3
(d) Sae 133

Freafafea & @ fora dfias & wom 7@
fe AR 3R TTR@ & TR
TR | qa1 & ?

(a) S T
(b) TrTEA

(c) e SelTad
(d) TGl FerEd
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By selling an article for ¥ 2700, a man
loses 10%. If he sells it for T 3600, his
gain per cent is

@@ 15
() 18
) 20
@ 25

The next term of the series BCYX,
EFVU, HISR, KLPO,

(a) NOML

(b) NOLM

(c) ONML

(d) ONLM

The least integer when muitiplied by
2940 becomes a perfect square is

(a) 10

®) 15

(c) 20

(d) 35

When the digits of two-digit numbers
are reversed, the number increases by

27, the sum of such two-digit numbers
is ;

(a) 235
(b) 249
() 213
(d) 180

35

10s.

106.

107.

If 5472=9, 6342=6 and 7584 =6,
then what is 9236 ?

(@) 2
() 3
(c) 4
d 5
Which of the  following are the
essential requirements for a person to

be appointed as a member of Finance
Commission ?

1. A Supreme Court judge or one
qualified to be appointed as such

2. A person having wide experience
in financial matters and adminis-
tration

3. A person having ébecial know-
ledge of economics

Select the correct. answer using the
code given below :

(@ 1,2and 3

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1 and 3 only

Which one of the following musicians

served at the courts of Raja Man Singh
Tomar and Bahadur Shah of Gujarat ?

(a) Baiju Bawra

(b) Tansen

(c) Lal Kalawant

(d) Rang Khan Kalawant

A — GHY-F-BST
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108. g%l FHfd FHE-AA-Teo@ & wq@H (c) P SHAIeSH : <it. off. foreren
@I ar ? , et
(d) =@ AvfE : . @, 1g
(a) IS 6 e g : i
(b) AR fawdt 11 frafefe & & W @, ofied
(3tiafien) et =l e @ § 2
- (c) Y@ fromgEE sitfern (a) T 3R gt & 9 & 7%
(b) T sR gt (IR wgw) H
(@) IR g Faen % H9 7
' L ol P ¥
109. frafofe & & € 1924 & AR
Steilfaa e A g i, St hitgiie
_ 112. g=t 1t gt 1 & @19 gafera hifg
(2) IIFR FEHG, TH. T. T, vilha aﬂtqﬁﬁ%ﬁ%ﬁqﬂqfﬁwm
IEATt, Afert Jar | | R T8 IR I :
: List I List II
(c) TE. T. SR 3R ug. &Y. =re e v
B. Q&I 2. feve fasfm
(d) FIFR AT 3K TH. TE. B -~ C. s IR 3. & fréfta
| " (it Q=) s faafa
110. Tt ik I weast F FrafiRea D. 7R (feitz)
gl # ¥ A a ge gafera T R ? %z :
A foreRyE ¢ oW 3R e
A . R
(b) SEEA-I  : WA TETE &) .3 & 1
Jamr-u-feg 6 9@ oA g - on L S S T
GHY-F-BST - A 36
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The Sufi work Kashf-ul-Mahjub was
written by

(a) Abu’l Hasan al Hujwiri

(b) Moinuddin Chishti
(c) Shaikh Nizamuddin Auliya

(d) Amir Khusrau

Who among the following were jailed
in the Kanpur Bolshevik conspiracy
case in 1924 ? '

(a) Muzaffar Ahmad, S. A.Dange,

Shaukat Usmani, Nalini Gupta
(b) Muhammad Ali and Shaukat
Usmani

(c) S.A. Dange and S. V. Ghate

(d) Muzaffar Ahmad and S.S.
Mirajkar

Which one of the following pairs of
organization and their founders is NOT
correctly matched ?

(a) National : Tej Bahadur
Liberation Sapru and
Federation M. R. Jayakar

(b) Jamiat-ul : Maulana
Ulama-i Hind Mahmudal

Hasan
Shaikh-ul-Hind

111.

112.

(c) Congress : B. G Tilak
Democratic
Party

(d) Congress : M. N. Roy
Socialist Party

Which one of the following represents
the inner planets ?

(a) Planets between the sun and the
earth

(b) Planets between the sun and the
belt of asteroids

(c) Planets near the earth

(d) Planets around the sun

Match List I with List II and select the
correct answer using the code given
below the Lists :

List I List II
(Landform) (Agent)
A.Loess 1. Wind deposited
B. Tombolo 2. Glacier deposited
C. Point bars 3. River deposited
D.Moraines 4. Sea deposited

Code :
A'B C D
(@ 1 4 3 2
| s Gl SRR R
o .23 -4 1

@ 2 i

A — GHY-F-BST
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113, S 2 10 R R s Rt A Rt S sl
L

List 1 List II
(7R) (R % fefw)
A. 99R i\?
| N .
¥ aﬂé w
c oW %J ‘ ‘ Yv\f'
® .
N—.
D. &s @r\ v‘j
\@ ;
@/
| :
AQ B C." B
(a) 2 4 3 1
(b) 1 3 4 2
(c) 2 3 4 1
(d) 1 4. .3 2
114. 3¢ 2[3]14=143R 3[4]6=60 %, @  115. Fraferfea St = fmw Hiftme .
4[517="2 iy ‘ 19, 37,33:49,73. ;..
@) 72 Frafafea # @ qu @ it ve=tfrg :
% (@) 99
(b) 97
(c) 96 © 95
(d) 108 _ (d) 91
GHY-F-BST - A | 38
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Lists :
List I
(River)

A. Penner
B. Vaigai
C. Cauvery

D. Krishna

Code :

(b)
(©)

A
@ 2
1
2
@) b

A WWRW

114. If 2 [3] 4=14 and 3 [4] 6 =60, then
4[5]17="2 ‘ -

(@ 72
(b) 84
(c) 96

@ 108

C
3
4
4
3

115. Consider the following series :
5917, 35,915

Identify the missing number from the
following :

113. Match List I with List II and select the correct answer using the code given below the

List II
(Location in map)

N =N = T

(@ 99
(b) 97
(c) 95
(d 91

A — GHY-F-BST
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116. Frafafaa srefy w= fmm Hifvg

1

45192

A= & it et # ¥ @ g W A
oiIsT
(@) 12
(b) 16
(c) 32
) 48
117. frafefea & @ 9 & F9 1947
SraTsgl & 3§ ifedred A sne I gwe
Flwadad € 2
1. =i sfedt & A= s Sgd
HTSd ATUR 4T
2.3 ‘gfy s amifes wfm
H eI
3. gt wwS ® wemwiffEal @ A9
TW R wm9a @ oA fEar
grﬁamﬁﬁqaq’amwﬁa
4. I GATS Sl AT H A THIS &
eE A
M Ry T g T W W TR SR
3 ;
(a) Fae 1 3R 2
(b) 1,233
(c) wad 3 3R 4
(d) 1,3 3R 4

GHY-F-BST - A
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118. WETCHT Wiel & WOWE & SR A
frafafee & @ o9 @1/ =99 w
/% 7?

1. gftqor sofiem & AeEe & faems

I[ATT Y 39 APEE F A B
e ¥ FEWTH GAREE F WANT
femam ar

2. AWE & T WA HACH ©
‘a’ ik ‘afear’
3. AR 0% & RRY @E @
HE JeareR axd © A fo feRifdmt
H FY AT
4. ARG ¥H, GAWE H GEAHEH WAN
iefs F saRer & fean
H Ry g F = WM W FW®
'ﬂﬁ-ﬂ!:
(a) aeT 1 AR 4
(b) e 2
(c) &ad 4
@ 1,2,33R4

119, FrETeAT ¥ et et wa= ®
ﬁ?‘l‘(ﬁﬁt{:

1. €IqETeq UTHE AGATH § UgE™
S & '

2. GraaTeAt o e w1 SR
AT fugasha o

ST # | B 91 /8 I a8 /% 7

(a) &9 1

(b) e 2

(c) 13R23=

(@ AA1, T2
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Consider the following figure :

Find out the missing number from
among the following :

(a) 12
(®) 16
() 32
(d) 48
Which of the folléwing statements

about the Arya Samaj which emerged
in the late 19th century are correct ?

1. Had a very strong support base
amongst the trading castes

2. Introduced ‘shuddhi’ or mass puri-
fication

3. The moderates in the Arya Samaj
were headed by Hans Raj and
Lajpat Rai and set up a chain of
Dayanand Anglo-Vedic colleges

4. The Arya Samaj had fewer
members than the Brahmo Samaj

Select the correct answer using the
code given below :

(a) 1 and 2 only
() 1,2 and 3
(c) 3 and 4 only
@ 1,3 and 4

41

118.

119.

Which among the following statements
about Mahatma Gandhi’s Satyagraha
is/are correct ?

1. It was during the course of his
campaign against racialism in
South Africa that Gandhiji first
applied Satyagraha

2. The two vital ingredients of
Satyagraha are ‘truth’ and ‘non- -
violence’

3. The Satyagrahi resists evil by
inflicting suffering on himself and
not by inflicting suffering on the
opponent

4. In India, Satyagraha was first tried
- by Gandhiji in Champaran
Select the correct answer using the
code given below :
(a) 1 and 4 only
(b) 2 only
(c) 4 only
(d 1,2,3and 4
Consider the following statements
pertaining to the Satavahanas :

1. Satavahana rulers were identified
through metronymics

2. Satavahana succession to the
throne was generally patrilineal

Which of the statements given above
is/are correct ?

. (a) 1 only

(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
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123.

124.

125.

(a) 2015
(b) 2016
(c) 2017
(d) 2018
AR A & Fefafaa & @ o

U 3WNfh &aqe 9id & wE 2019 F
Far 7oh (feawfivie) fomam mam 2

(a) INS T

(b) INS Ut

(c) INS T&gd

(@) INS faRes

AR 9 &1 A Bl & § AH-64E (1) —

Ty el e fRar @
7% Rfcrerer et fafifa gom @ 2

(a) \A
(b) &=
(c) wid

(d) USA

Searg A f NSO KA arer

e ou Frafofea # & @\ & an

(a) we
(b) =gsfiete
(¢) UK
(d) ARAS
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120. Match List I with List II and select the

correct answer using the code given
below the Lists :

List I List IT
(Border of (Location
Sikkim) in map)
A. Nepal
B. Bhutan
~ C.China

D. West Bengal

.Code :
T W
(@ 3 1 4
o e S S
a2 8
e o SO (A

121. Which one of the following is the

name given by Indian Railways to the
indigenously manufactured Train 18 ?

(a) Humsafar Express
(b) Vande Bharat Express
(c) Ananya Express

(d) Gatimaan Express

122. The National Clean Air Programme

(NCAP) aims to reduce particulate
matter (PM) in at least 102 cities of
India by 20% — 30% by 2024. The base
year for the comparison of concentra-
tion is

43

123.

124,

125.

(a) 2015
(b) 2016
(c) 2017

(d) 2018

Which one of the following frontline
destroyer of Indian Navy was decom-
missioned in May 2019 ?

(a) INS Rana

(b) (INS Ranjit

(c) INS Rajput

(d) INS Sindhurakshak

The Indian Air Force has recently
acquired the AH-64E (I) — Apache
Guardian helicopter. The helicopter is
made in

(a) India

(b) Russia

(c) 'France

(d) USA

Which one among the following was

the first country to declare ‘Climate
Emergency’ 7

(a) Sweden

' (b) New Zealand

(¢) UK

(d) Ireland
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T.B.C. : GHY-F-BST Test Booklet Series

TEST BOOKLET

GENERAL ABILITY AND
INTELLIGENCE

Time Allowed : Two Hours Maximum Marks : 250

3.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 125 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your

- Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Inv1g11ator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(1) There are four alternatives for the answer to every question. For each question for which
‘a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(i) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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